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saJ1g sS4 1,188,930 1,546,409 A357,479
= 200,000
[Ea 988,930
s dgetdat N3 699,270 867,349 /168,079
sSaJ1Y 243 X (A 139,500 139,500 0
301 EtE NS 7,000 7,000 0
11 #AIAMHIXIZ S 2,000 2,000 0
O SA01Y MSEE SIS 24
500,000 #4042 2,000
14 JIEt2 8= 5,000 5,000 0
O S0 Jl=2s =2 X3
1,000,000& #52 5,000
307 elztol & 132,500 132,500
02 2B YAIHE X 32,500 32,500
O S ItSAS Al K&
500,000 *657H 2 32,500
08 OIXt2d=S 100,000 100,000 0
S2J18 F4N= 0K
2,000,000 +50IH 2 100,000
SAIYFEIISsEE £0= 108,770 104,600 4,170
306 £= 108,770 104,600 4,170
01 9= 108,770 104,600 4,170
O 8AJIgsd JIsxd £9=
108,770,000 *14] 108,770
S0l 2435 X2 (KHA) 451,000 542,000 291,000
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SA BHA
T ZAI|Y NI
Col: ZAJ|Q HAoHE XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 451,000 542,000 291,000
18 SIS0t 4 A AS A 451,000 542,000 291,000
O LDIEESE =AY
1,940,000, 000& *15% 291,000
O &g Hetg 82018 SdAE
120,000,000 * 14! 120,000
O &g S JIHXES SN2 AL
80,000,000 *50% 40,000
SHHER e X1 489,660 679,060 189,400
= 200,000
Ea 289,660
SHsSHX |X2el 20,220 183,420 /163,200
201 er2 3| 19,500 32,700 A13,200
01 AtR2te|HI 5,500 5,500 0
O sds3HA =283 g4
2,750,000& *23] 5,500
2 S524g4l 14,000 27,200 /13,200
O SdssHA &JIe=s
200,000 122 2,400
O SdssHA A2 |A & 2338l
10,000,000 * 14 10,000
O SHs3HA 2945
800,000 <22 1,600
301 2P EN= 720 720
11 AALEEIXIRE S 720 720
O SHsSHA e 2tee &
A 2 8,000 x45H+23] 720
ASESIEX =Xl2kl 269,440 296,640 A27,200
201 fer23| 267,040 114,240 152,800
01 AtR2t2|HI 204,640 24,640 180,000
O &g ASSaAH SSH=XCIAIE
TEAEEH 1,600,000& « 128 19,200
O &g ASSSHA SSH=HMIlAlI4
SO} AIRE Ay
100,000 %10 1,000
O d&dllg AZSaHAl 23| ===
120,000 #2042+ 123 2,880
O E&dllg ASSaAAl &Il 2e| =+
== 130,000& * 12 1,560
O GEle ASSS SSH+XClAE
2|2 15,000,000& «12& 180,000
2 352484l 62,400 89,600 A27,200
O g&oie ASSsHI RIA2A2U(332
2 ¢ AEE 22l) 2,500,000& 123 30,000
O E&dlg ASSaAHA SSH=XCIAIE
=24l IS 90,0002 x10=+128 10,800
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FA BHS
M IAVY |4

CHRl AQICHT R4 X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O g&dlg ASSatHAl S3dIAg
20,000,000& » 14 20,000
O Taly ABSHH gois
800,000 22 1,600
206 TH=H 2,400 2,400
01 K28 2,400 2,400
O Q2o ABESHUX BBHAHIAL
BTl 200,000 * 122 2,400
SHREENHsSHA MUEZ HEAIS 200,000 199,000 1,000
= 200,000
401 A2 HIRL R 0HbI 200,000 199,000 1,000
= 200,000
01 A28l 200,000 199,000 1,000
O =S MUE2Z HEAS
200,000,000 *14] 200,000
= 200,000
JIBENRR gdat 47,420 55,012 NT,592
JIgEN=AIAEE XA 47,420 55,012 AT,592
SEX=X JIgXE 47,420 55,012 AT,592
201 223 41,460 40,860 600
01 At22t2ltl 21,460 20,860 600
O XX 928 Hasry
100,000 x 10 #2323 2,000
O MU M2 NM=Edl € S0 H&
100,000 %52 500
O Elzxl 22 M& & 7Y
15,000,000& * 14! 15,000
O EX=X JIgE8E Z208 AMZ=
3,960,000 14| 3,960
03 A2 Y| 20,000 20,000 0
O R0PDls EXIRA &3]
20,000,000 *14] 20,000
301 LEtE NS 5,960 14,152 A8,192
11 AALAHIXIES 5,960 14,152 A8 192
O EXsXl F2ULH 960,000 *14] 960
O H0Pte EXNRA £33 4 28
5,000,000& 14 5,000
TN 54 X2 720 317,720 A317,000
= PAPNREN-DNLE! 720 720 0
SSYUMHEI ZEXE 720 720 0
301 2= 720 720 0
11 AALAEIXIE S 720 720 0
O SSNYHK YRET oIS &4
24 8,000& x30 & *32 720
G ADHE X 1,381,600 1,301,600 80,000
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FA BHS
M JIGTAIHEXIR

2l JIGEAl e I CHel: & 2l)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
= 500,000
T 150,000
= 597,600
N 134,000
IS Al HE XI& ,381,600 1,301,600 80,000
= 500,000
= 150,000
= 597,600
A 134,000
IS Al Y XI& 151,600 1,600 150,000
201 B2 AY| 51,600 1,600 50,000
01 A=R2teld| 1,600 1,600 0
O JIGEA(REXIR) IZANE =2
400,000 1,600
03 At2ZH] 50,000 0 50,000
O &OIEA HIAEIY HALFE 253
50,000,000 14! 50,000
308 AXIHMSOIH 50,000 50,000
07 RIXIEHZ2HREZ 50,000 50,000
O JEYNET NHE 98 DS
2= 50,000,000 50,000
401 Al HIZLS0HY| 50,000 50,000
01 AlEHI 50,000 50,000
O SEolLYHAZAl JI2HE 28 =2
A 50,000,000 * 14! 50,000
NSHE AOLEAIEl ZHAIS 1,000,000 1,000,000 0
= 500,000
= 150,000
= 350,000
403 XtXISHHSKHE01 A 1,000,000 1,000,000 0
= 500,000
T 150,000
= 350,000
02 SISO CHStR=2 X RIEAIS I 1,000,000 1,000,000 0
O XNSHE ADEANE Z&EAS
1,000,000,000& * 14| 1,000,000
= 500,000
& 150,000
= 350,000
)ﬁEﬂOI/ﬁ H X4 (&AM ADIEZCIX)(AZEUSD 230,000 300,000 A70,000
= 9%,000
A 134,000
401 A& B2 20iY| 230,000 300,000 A70,000




2A:
X XH -
o e

=aak

=S| Faigeain;
JIEZADNEXE
JIFEAl e X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 96,000
e 134,000
01 Al&H| 230,000 300,000 70,000
O AHIOIE H =4 230,000,000 x 14 230,000
s 96,000
e 134,000
HH2LZHI(SB ML D) 76,612 64,792 11,820
Jl2Z8I(ZH A 76,612 64,792 11,820
JlE2ZHI(FMa ) 26,800 26,800 0
201 er23 | 22,000 22,000 0
01 At2telt] 22,000 22,000 0
O RA2HI(S5N) 22,000,000 22,000
203 HR=H| 4,800 4,800
M A2 LRFEI 4,800 4,800
O VEL-TSEESEEN.c=)
4,800,000 4,800
JI23HI(KSEZHE) 8,280 9,504 A1,224
201 et 3| 4,320 4,224 %
01 At2t2l] 4,320 4,224 %
O NS3NE L4 SEhl
4,320,000 4,320
202 04l 3,960 5,280 1,320
01 =LHAHI 3,960 5,280 1,320
O J12 = 3,960,000& 3,960
JlEZdul(exeleEs) 6,840 5,184 1,656
201 er2 3| 2,880 3,744 A\B64
01 AtR2te|HI 2,880 3,744 A864
2ACIEEE HIEFA S
2,880,000& 2,880
202 04| 3,960 1,440 2,520
01 SLHoIH 3,960 1,440 2,520
O JlE =0l 3,960,000 3,960
JlE2ddl(aaB0lg) 6.012 5,880 132
201 Ler23| 3,072 3,360 A288
01 At2teltl 3,072 3,360 A288
O 24508 AR S|
3,072,000& 3,072
202 04| 2,940 2,520 420
01 ZLHAH| 2,940 2,520 420
O 212 =Wt 2,940,000 2,940
JI23HI(0IHXIXAE) 8,904 8,184 720
201 er23 | 2,304 4,224 21,920
01 At2teltl 2,304 4,224 1,920
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2A:
X XH -
o e

=aak

=)=
HHSAAH| (RS D)

SoT oo

JlE2ZHI(FHM A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HUXNAEE g2=8 S|
2,304,000& 2,304
202 04dl 6,600 3,960 2,640
01 2L AL 6,600 3,960 2,640
O JlE =0l 6,600,000 6,600
JI2ZHIOIg=Xg) 13,248 9,240 4,008
201 2= 4,608 3,840 768
01 At22t2l] 4,608 3,840 768
O JIHFXE 2= =]
4,608,000 4,608
202 04l 8,640 5,400 3,240
01 =LHAHI 8,640 5,400 3,240
O J12 =0 8,640,000& 8,640
J23HI(ATHATFE) 6,528 0 6,528
201 fet=23y| 1,728 1,728
01 AtR2te|HI 1,728 1,728
O ANATFE HRF2 Sl
1,728,000 1,728
202 04| 4,800 4,800
01 SLHoIH 4,800 4,800
O JlE =0l 4,800,000 4,800
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